n-d (EDT-TTFBr,),FeBr,



Introduction|

w-d (EDT-TTFBr2).FeBrgy

— Br-Br
(3.66 A van der Waals: 3.9 A)
— S-Br

(3.69 A van der Waals: 3.8 A)

- — 401A
Yo W BT 5.09 A
e A 4



Magnetic susceptibility

=
o

14

0.12 | _
12+t

0.10 | :

< [ 1y

S 0.08 1.

= _ | £ o8t

-} ~ L
0.06 | .

g - | = 067
0.02 - 0.2 -
0.000—=>%0"20 60 80 100 O

T/K
w-d
Resistivity
10— 30
- N
)
. 10° 20 5
= . 3
a Z
= >
Q = N
S
B

|
o
¢
Sk



Magnetoresistance
H || easy-axis, /|| stacking axis
0.05— ' '

0.00
-0.05}
-0.10}

AR | R,

-0.15¢

-0.20}

0By——5 10 15

Experimental

GaBry EPR
Tight-Binding




[EPR of the GaBr, salt]
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